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_ Standard Reduction Potentials at 298K, 1M, 1atm
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strong oxidizing agents

HALF-REACTION E° (V)
Fz@) +28 =2 F-(aq) +2 87
O )+ 2HYgq +2 € — Oy + H;Op +2 07
Co*", @q) g CD (aq) +1 82
HgOg(aq) + 2H, gy T 28 —>2 H:ZOG) +1 77
F'DOQ(;) +4 H¥ag + SO @) + 2 € =2 PhS04s +2H3:0gp  +1.70
CE (@) +Eg == CE (aq) +1 61
Mn04 agp T 8 H* ag T 5 & = M (aq +4 HQOG) +1 .91
AL ap +IE P .‘\U(g) +1 .80
C|2@)+ 20— 2 Cr +1 .36
CraOr gy + 14 H¥egy + 68 =2 Crgg + 7 HzOp +1.33
MnOgm +4 HYaq + 2 e - Mn* rapy T 2 Ho0g +1 .23
|Ozm'] +4 H+(aﬂ+ 4e = 2 H;0 +1 Qj
Brogn +28 = 2Br g +1 07
MO aq) + 4 Het@gy +3 8 == NOygy +2 HaOgy +0 96
2HG ey +2 € = Hg g +0 .92
Hg.* + 2& - 2 Hiy, +0 85
Ag o) + B — Al +0 .80
Fe™ @p tE — Fe?, @Eq) +0.77
Ogggy + 2 HYgy 2 & — HaOjggy +0 .68
MNOy4 g + 2 HOg + 3 8 = MNOggy + 4 OH g +0 59
|3(5) +2g — 2 |'(=q) +0 53
O, )+2H20+49'—>4OH'|:“) +0 40
Cut @y t 2 = CU(S) +1 .34
AQC|(S) +E - AQ(S) + Cr @ +0 22
804 @q) +4 HY @n * 2 — SOQ(Q) + 2 HgOm +0.20
Cu?t ) + e — Cut ) +0.15
Sn* (aq) +2e - 5Sn* (aq) +0.13
2H*qq +2 €8 — Hygy 0.00
Phit +2E.' — Pbg -0.13
Sn (aq)+28 = SNy -0.14
Nl (aq)"" 28— Nl(s) -0.28
Co? (,q)+28 —» Cogg) -0.28
PDSO‘,@) +2 8 = PO+ 5056 -0.31
ca™, @p T 28 2 Gl -040
Felt (@) +2e — FE(S) -0 44
Cr*eq + 38" = Cly -0.74
Znét (a-u] +2 8 = 7l -0.76
[2H,0p+2 € = Hyoy + 2 OH -0.83
Mni(q)we'_}wts) -1.18
AP (aq) + 38 = Al -1.66
BE (;q)+2!3 —i‘BE(g) -1.85
Mg @@y + 2€¢ = M&S) -2.37
Ma®, (aq)+E = Nag, -2.71
Ca ap T 2e —» Cats) -2.87
Sriap + 28— Si -2.89
Ba'q +2 € - Bag, -2.90
Klag + € = Ky -2.93
-3.06

Li+(zq) +e8 — Li(S]
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